

Global existence and decay of solutions to a system of Petrovsky

Salim A. Messaoudi
Mathematical Sciences Department
KFUPM, Dhahran 31261
Saudi Arabia.
Email : messaoud@kfupm.edu.sa

Abstract

In this paper we consider the nonlinearly damped semilinear Petrovsky equation

$$u_{tt} + \Delta^2 u + au_t|u_t|^{m-2} = bu|u|^{p-2}$$

in a bounded domain, where $a, b > 0$. We prove, for a suitably chosen initial data, a global existence as well as a decay result.

bfKeywords : Nonlinear damping, Nonlinear source, Global existence, decay

bfAMS Classification : 35L45, 93C20.

1 Introduction

In [5] we considered the problem

$$\begin{aligned} u_{tt} + \Delta^2 u + au_t|u_t|^{m-2} &= bu|u|^{p-2}, & x \in \Omega, & \quad t > 0 \\ u(x, t) = \partial_\nu u(x, t) &= 0, & x \in \partial\Omega, & \quad t \geq 0 \\ u(x, 0) = u_0(x), \quad u_t(x, 0) &= u_1(x), & x \in \Omega, & \end{aligned} \quad (1.1)$$

where Ω is a bounded domain of \mathbb{R}^n ($n \geq 1$), with a smooth boundary $\partial\Omega$, ν is the unit outer normal on $\partial\Omega$, a, b are strictly positive constants, and $p, m > 2$. We proved a local existence result 'of weak solutions' then showed that this solution continues to exist globally if $m \geq p$, however it blows up in finite time if $m < p$ and the initial energy is negative. In [2], Guesmia considered the following problem

$$\begin{aligned} u_{tt}(x, t) + \Delta^2 u(x, t) + q(x)u(x, t) + g(u_t(x, t)) &= 0, & x \in \Omega, & \quad t > 0 \\ u(x, t) = \partial_\nu u(x, t) &= 0, & x \in \partial\Omega, & \quad t \geq 0 \\ u(x, 0) = u_0(x), \quad u_t(x, 0) &= u_1(x), & x \in \Omega, & \end{aligned} \quad (1.2)$$

where g is continuous, increasing, satisfying $g(0) = 0$, and $q : \Omega \rightarrow \mathbb{R}^+$, is a bounded function and proved a global existence and a regularity result. He also established,

under suitable growth conditions on g , decay results for weak, as well as strong, solutions. Precisely, he showed that the solution decays exponentially if g behaves like a linear function, whereas the decay is of a polynomial order otherwise. Similar results to the system (1.2), coupled with a semilinear wave equation, have been established by Guesmia [3]. Also the system composed of the equation (1.2), with $\Delta^2 u_t(x, t) + \Delta g(\Delta u(x, t))$ in the place of $q(x)u(x, t) + g(u_t(x, t))$, has been treated by Aassila and Guesmia [1] and an exponential decay theorem, by using an important lemma of Komornik [4], has been established.

In this work we extend the decay result of [2] to (1.1) for initial data suitably chosen. Our argument of proof will follow closely the steps of [7] with the necessary modification needed. It worth mentioning that it is only for simplicity, q is taken to be zero, $g(u_t(x, t)) = au_t|u_t|^{m-2}$, and the source term has a power form. The same theorems could be established for more general functions.

2 Preliminaries

In this section we state, without proof, a local existence result for (1.1). For the proof we refer the reader to [5]. We also present some known results, which will be used later on in the paper.

Proposition 2.1 *Assume that*

$$2 < p \leq 2(n-2)/n-4, \quad 2 \leq m \leq 2n/(n-4), \quad (2.1)$$

for $n \geq 5$, hold. Then given any u_0 in $H_0^2(\Omega)$, and u_1 in $L^2(\Omega)$, the problem (1.1) has a unique weak solution

$$\begin{aligned} u &\in C([0, T]; H_0^2(\Omega)) \\ u_t &\in C([0, T]; L^2(\Omega)) \cap L^m(\Omega \times (0, T)), \end{aligned} \quad (2.2)$$

for some $T > 0$.

Lemma 2.2 (Nakao [6]). Let $\phi(t)$ be a nonincreasing and nonnegative function defined on $[0, T]$, $T > 1$, satisfying

$$\phi^{1+r}(t) \leq k_0(\phi(t) - \phi(t+1)), \quad t \in [0, T],$$

for $k_0 > 1$ and $r \geq 0$. Then we have, for each $t \in [0, T]$,

$$\begin{aligned} \phi(t) &\leq \phi(0)e^{-k[t-1]^+}, \quad r = 0 \\ \phi(t) &\leq \{\phi(0)^{-r} + k_0 r [t-1]^+\}^{-1/r}, \quad r > 0, \end{aligned}$$

where $[t-1]^+ = \max\{t-1, 0\}$ and $k = \ln(k_0/(k_0-1))$.

Also by using Poincaré's inequality, there exists a constant C_1 depending on Ω only such that for any $1 \leq q < \infty$, if $n \leq 4$ and for any $1 \leq q < 2n/(n-4)$, if $n \geq 5$, we have

$$\|v\|_q \leq C_* \|\Delta v\|_2, \quad \forall v \in H_0^2(\Omega) \quad (2.3)$$

3 Global Existence

In order to state and prove our main results, we first introduce the following

$$\begin{aligned}
I(t) &= I(u(t)) = \|\Delta u(t)\|_2^2 - b\|u(t)\|_p^p \\
J(t) &= J(u(t)) = \frac{1}{2}\|\Delta u(t)\|_2^2 - \frac{b}{p}\|u(t)\|_p^p \\
E(t) &= E(u(t), u_t(t)) = J(t) + \frac{1}{2}\|u_t(t)\|_2^2 \\
H &= \{w \in H_0^2(\Omega) \ / \ I(w) > 0\} \cup \{0\}
\end{aligned} \tag{3.1}$$

where we use $w(t)$ instead of $w(., t)$.

Remark 3.1 By multiplying equation (1.1) by u_t , integrating over Ω , and using integration by parts and the boundary conditions we get

$$E'(t) = -\|u_t(t)\|_m^m \leq 0, \quad \forall t \in [0, T]. \tag{3.2}$$

Lemma 3.1 *Suppose that (2.1) holds. If $u_0 \in H$, and $u_1 \in L^2(\Omega)$ such that*

$$bC_*^p \left(\frac{2p}{p-2} E(u_0, u_1) \right)^{(p-2)/2} < 1 \tag{3.3}$$

then the solution $u(t) \in H$, for each $t \in [0, T]$.

Proof. Since $I(u_0) > 0$ then there exists $T_m \leq T$ such that $I(u(t)) \geq 0$ for all $t \in [0, T_m)$. This implies

$$\begin{aligned}
J(t) &= \frac{1}{2}\|\Delta u(t)\|_2^2 - \frac{b}{p}\|u(t)\|_p^p \\
&= \frac{p-2}{2p}\|\Delta u(t)\|_2^2 + \frac{1}{p}I(u(t)) \\
&\geq \frac{p-2}{2p}\|\Delta u(t)\|_2^2, \quad \forall t \in [0, T_m);
\end{aligned} \tag{3.4}$$

hence

$$\begin{aligned}
\|\Delta u(t)\|_2^2 &\leq \frac{2p}{p-2}J(t) \leq \frac{2p}{p-2}E(t) \\
&\leq \frac{2p}{p-2}E(u_0, u_1), \quad \forall t \in [0, T_m).
\end{aligned} \tag{3.5}$$

By exploiting (2.3), (3.3), and (3.5), we easily arrive at

$$\begin{aligned}
b\|u(t)\|_p^p &\leq bC_*^p\|\Delta u(t)\|_2^p = bC_*^p\|\Delta u(t)\|_2^{p-2}\|\Delta u(t)\|_2^2 \\
&\leq bC_*^p \left(\frac{2p}{p-2} E(u_0, u_1) \right)^{(p-2)/2} \|\Delta u(t)\|_2^2 \\
&< \|\Delta u(t)\|_2^2, \quad \forall t \in [0, T_m);
\end{aligned} \tag{3.6}$$

hence $\|\Delta u(t)\|_2^2 - b\|u(t)\|_p^p > 0$, $\forall t \in [0, T_m)$. This shows that $u(t) \in H, \forall t \in [0, T_m)$. By repeating the procedure, T_m is extended to T .

Theorem 3.2 *Suppose that (2.1) holds. If $u_0 \in H$, and $u_1 \in L^2(\Omega)$ satisfying (3.3) Then the solution is global*

Proof. It suffices to show that $\|\Delta u(t)\|_2^2 + \|u_t(t)\|_2^2$ is bounded independently of t . To achieve this we use (3.1) and (3.2)

$$\begin{aligned} E(u_0, u_1) &\geq E(t) = \frac{1}{2}\|\Delta u(t)\|_2^2 - \frac{b}{p}\|u(t)\|_p^p + \frac{1}{2}\|u_t(t)\|_2^2 \\ &= \frac{p-2}{2p}\|\Delta u(t)\|_2^2 + \frac{1}{p}I(u(t)) + \frac{1}{2}\|u_t(t)\|_2^2 \\ &\geq \frac{p-2}{2p}\|\Delta u(t)\|_2^2 + \frac{1}{2}\|u_t(t)\|_2^2 \end{aligned} \quad (3.7)$$

since $I(u(t)) \geq 0$. Therefore

$$\|\Delta u(t)\|_2^2 + \|u_t(t)\|_2^2 \leq C_1 E(u_0, u_1) \quad (3.8)$$

for $C = \max\{2, 2p/(p-2)\}$.

Remark 3.2 If $m \geq p$ then the global existence can be obtained for any $u_0 \in H_0^2(\Omega)$ and any $u_1 \in L^2(\Omega)$. See [5].

4 Asymptotic Behavior

Before stating and proving the decay result, we start with

Lemma 4.1 *Suppose that (2.1) holds. If $u_0 \in H$, and $u_1 \in L^2(\Omega)$ satisfying (3.3). Then*

$$b\|u(t)\|_p^p \leq (1 - \eta)\|\Delta u(t)\|_2^2 \quad (4.1)$$

where $\eta = 1 - bC_*^p \left(\frac{2p}{p-2}E(u_0, u_1)\right)^{(p-2)/2}$.

Proof. It suffices to rewrite (3.6) as

$$b\|u(t)\|_p^p \leq \left\{ 1 - \left[1 - bC_*^p \left(\frac{2p}{p-2}E(u_0, u_1) \right)^{(p-2)/2} \right] \right\} \|\Delta u(t)\|_2^2.$$

Theorem 4.2 *Suppose that (2.1) holds. If $u_0 \in H$, and $u_1 \in L^2(\Omega)$ satisfying (3.3). Then the solution satisfies the following decay estimates :*

$$\begin{aligned} E(t) &\leq E(u_0, u_1)e^{-k[t-1]^+}, \quad t \geq 0, \quad m = 2 \\ E(t) &\leq \left(E(u_0, u_1) \right)^{-(m-2)/2} + \frac{(m-2)C}{2}[t-1]^+ \right)^{-2/(m-2)}, \quad t \geq 0, \quad m > 2, \end{aligned} \quad (4.2)$$

where $[t-1]^+ = \max\{t-1, 0\}$ and k, C are constants depending on $\|\Delta u_0\|_2$ and $\|u_1\|_2$.

Proof We multiply equation (1.1) by u_t and integrate over $\Omega \times [t, t+1]$ to get

$$E(t) - E(t+1) = a \int_t^{t+1} \|u_t(s)\|_m^m ds = a[F(t)]^m. \quad (4.3)$$

We then use Holder's inequality to estimate

$$\begin{aligned} \int_t^{t+1} \|u_t(s)\|_2^2 ds &= \int_t^{t+1} \int_{\Omega} |u_t(x, s)|^2 dx ds \\ &\leq C(\Omega) \left(\int_t^{t+1} \|u_t(s)\|_m^m ds \right)^{2/m} \leq C(\Omega) [F(t)]^2. \end{aligned} \quad (4.4)$$

By applying the mean value theorem to the lefthand side of (4.4), we obtain

$$\|u_t(t_i)\|_2 \leq 2C(\Omega)F(t), \quad i = 1, 2,$$

for some $t_1 \in [t, t + 1/4]$ and $t_2 \in [t + 3/4, t + 1]$. Next we multiply equation (1.1) by u and integrate over $\Omega \times [t_1, t_2]$ to arrive at

$$\begin{aligned} \int_{t_1}^{t_2} I(s) ds &\leq \sum_{i=1}^2 \|u_t(t_i)\|_2 \|u(t_i)\|_2 + \int_{t_1}^{t_2} \|u_t(s)\|_2^2 ds \\ &\quad + a \int_{t_1}^{t_2} \int_{\Omega} |u_t(x, s)|^{m-1} |u(x, s)| dx ds \\ &\leq 4C(\Omega)F(t) \sup_{t_1 \leq s \leq t_2} \|u(s)\| + C(\Omega)F^2(t) \\ &\quad + a \int_{t_1}^{t_2} \int_{\Omega} |u_t(x, s)|^{m-1} |u(x, s)| dx ds. \end{aligned} \quad (4.5)$$

To estimate the last term of (4.5) we note that, by (3.1) and (3.4), we have

$$E(t) \geq J(t) \geq \frac{p-2}{2p} \|\Delta u(t)\|_2^2;$$

consequently we get, by Holder's inequality,

$$\begin{aligned} &a \int_{t_1}^{t_2} \int_{\Omega} |u_t(x, s)|^{m-1} |u(x, s)| dx ds \\ &\leq a \int_{t_1}^{t_2} \left(\int_{\Omega} |u_t(x, s)|^m dx \right)^{(m-1)/m} \left(\int_{\Omega} |u(x, s)|^m dx \right)^{1/m} ds \\ &\leq a \int_{t_1}^{t_2} \|u_t(s)\|_m^{m-1} \|u(s)\|_m ds \leq aC_* \int_{t_1}^{t_2} \|u_t(s)\|_m^{m-1} \|\Delta u(s)\|_2 ds \\ &\leq aC_* \sup_{t_1 \leq s \leq t_2} E^{1/2}(s) \left(\frac{2p}{p-2} \right)^{1/2} \left(\int_{t_1}^{t_2} \|u_t(s)\|_m^m ds \right)^{(m-1)/m} \\ &\leq aC_* \sup_{t_1 \leq s \leq t_2} E^{1/2}(s) \left(\frac{2p}{p-2} \right)^{1/2} (F(t))^{m-1}. \end{aligned} \quad (4.6)$$

A combination of (4.5), and (4.6) then yields

$$\int_{t_1}^{t_2} I(s) ds \leq 4C(\Omega)F(t) \sup_{t_1 \leq s \leq t_2} \|u(s)\| + C(\Omega)F^2(t)$$

$$\begin{aligned}
& + aC_* \sup_{t_1 \leq s \leq t_2} E^{1/2}(s) \left(\frac{2p}{p-2} \right)^{1/2} (F(t))^{m-1}. \tag{4.7} \\
& \leq C(\Omega)F^2(t) + aC_* \left(\frac{2p}{p-2} \right)^{1/2} \sup_{t_1 \leq s \leq t_2} E^{1/2}(s) (F(t))^{m-1} \\
& \quad + 4C(\Omega)C_* \left(\frac{2p}{p-2} \right)^{1/2} \sup_{t_1 \leq s \leq t_2} E^{1/2}(s)F(t).
\end{aligned}$$

On the other hand we have, by (3.1) and (4.1),

$$\eta \|\Delta u(\cdot, t)\|_2^2 \leq \|\Delta u(\cdot, t_i)\|_2^2 - b \|u(\cdot, t)\|_p^p = I(t). \tag{4.8}$$

We also have

$$\begin{aligned}
\int_{t_1}^{t_2} E(s) ds &= \frac{1}{2} \int_{t_1}^{t_2} \|u_t(s)\|_2^2 ds + \int_{t_1}^{t_2} J(s) ds \\
&= \frac{1}{2} \int_{t_1}^{t_2} \|u_t(s)\|_2^2 ds + \frac{1}{p} \int_{t_1}^{t_2} I(s) ds + \frac{p-2}{2p} \int_{t_1}^{t_2} \|\Delta u(s)\|_2^2 ds \\
&\leq \frac{C(\Omega)}{2} F^2(t) + \frac{1}{p} \int_{t_1}^{t_2} I(s) ds + \frac{p-2}{2p\eta} \int_{t_1}^{t_2} I(s) ds \tag{4.9} \\
&\leq \frac{C(\Omega)}{2} F^2(t) + \left(\frac{1}{p} + \frac{p-2}{2p\eta} \right) \int_{t_1}^{t_2} I(s) ds.
\end{aligned}$$

By combining (4.7) - (4.9) and using the fact that $E(t)$ is nonincreasing, we arrive at

$$\begin{aligned}
\int_{t_1}^{t_2} E(s) ds &\leq C_2 \{ F^2(t) + \sup_{t \leq s \leq t+1} E^{1/2}(s) (F(t))^{m-1} + \sup_{t \leq s \leq t+1} E^{1/2}(s) F(t) \} \\
&\leq C_2 \{ F^2(t) + E^{1/2}(t) (F(t))^{m-1} + E^{1/2}(t) F(t) \}, \tag{4.10}
\end{aligned}$$

where C_2 , here and in what follows, is a generic positive constant independent of t . Next we multiply (1.1) by u_t and integrate over $\Omega \times [t, t_2]$ to get

$$E(t) = E(t_2) + a \int_t^{t_2} \|u_t(s)\|_m^m ds. \tag{4.11}$$

We then integrate (4.11) over $[t_1, t_2]$ and use the fact $t_2 - t_1 \geq 1/2$ to obtain

$$\int_{t_1}^{t_2} E(t) ds \geq \int_{t_1}^{t_2} E(t_2) ds \geq \frac{1}{2} E(t_2);$$

hence

$$E(t_2) \leq 2 \int_{t_1}^{t_2} E(t) ds. \tag{4.12}$$

By replacing in (4.11) and using (4.9) and (4.12), we get

$$\begin{aligned}
E(t) &\leq 2 \int_{t_1}^{t_2} E(t) ds + a \int_t^{t_2} \|u_t(s)\|_m^m ds \tag{4.13} \\
&\leq C_2 \{ F^2(t) + E^{1/2}(t) (F(t))^{m-1} + E^{1/2}(t) F(t) \} + a F^m(t) \\
&\leq C_2 \{ F^2(t) + E^{1/2}(t) (F(t))^{m-1} + E^{1/2}(t) F(t) + F^m(t) \}.
\end{aligned}$$

Therefore by using Young's inequality, we have

$$E(t) \leq C_2\{F^2(t) + (F(t))^{2(m-1)} + F^m(t)\}. \quad (4.14)$$

To this end we distinguish two cases :

1) if $m = 2$ then (4.14) gives

$$E(t) \leq C_2F^2(t) = C_2\{E(t) - E(t+1)\}. \quad (4.15)$$

Therefore by applying Nakao's result to (4.15) we obtain

$$E(t) \leq E(0)e^{-k[t-1]^+}, \quad (4.16)$$

for $k = \ln(C_2/(C_2 - 1))$ and $[t - 1]^+ = \max\{t - 1, 0\}$.

2) If $m > 2$ we then use the fact that $E(t)$ is nonincreasing and $E(t) \geq 0$ to arrive at

$$aF^m(t) = E(t) - E(t+1) \leq E(0); \quad (4.17)$$

consequently we have, from (4.14),

$$\begin{aligned} E(t) &\leq C_2\{1 + (F(t))^{2(m-2)} + F^{m-2}(t)\}F^2(t) \\ &\leq C_2\{1 + (E(0))^{2(m-2)/m} + (E(0))^{(m-2)/m}\}F^2(t) = C_2F^2(t), \end{aligned} \quad (4.18)$$

which implies that

$$E^{m/2}(t) \leq C_2F^m(t) \leq C_2\{E(t) - E(t+1)\}. \quad (4.19)$$

Again Nakao's lemma leads to

$$E(t) \leq \left(E^{(1-m/2)}(0) + \frac{1}{C_2} \left(\frac{m}{2} - 1 \right) [t - 1]^+ \right)^{-2/(m-2)} \quad (4.20)$$

This completes the proof.

Acknowledgment The author would like to express his sincere thanks to KFUPM for its support.

References

1. Aassila M. and A. Guesmia, Energy Decay for a damped Nonlinear Hyperbolic Equation, *Appl. Math Letters* **12** (1999), 49 - 52.
2. Guesmia A., Existence globale et stabilisation interne non lineaire d'un systeme de Petrovsky, *Bell. Belg. Math. Soc.* **5** (1998), 583 - 594.
3. Guesmia A., Energy decay for a damped nonlinear coupled system, *J. Math. Anal. Appl.* **239** (1999), 38 - 48.
4. Komornik V., Exact Controllability and Stabilization. The multiplier method, *Masson Paris* (1994). *itd*, Paris, 1968.

5. Messaoudi S. A., Global existence and nonexistence in a system of Petrovsky, J. Math Anal. Appl. bf265 (2002), 296 - 308.
6. Nakao M., Asymptotic stability of the bounded or almost periodic solutions of the wave equations with nonlinear damping terms, J. Math. Anal. Applications bf58 (1977), 336 - 343.
7. Park J. Y. and Bae J. J., On solutions of nondegenerate wave equations with nonlinear damping term, Differential and Integral equations, Vol bf14 # 12 (2001), 1421 - 1440.